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Math 227
Spring 2021

Lecture 13

Class Q7 15
P( ES: 0625
D eC £)=1- P(E)=1-.625 —4 319

?,) @c\cls e Savr ag evenl €.
P(D): P(E) = .025:.315 (53]

3) OAAS u%axv\sjf evart £.
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PA)- .15 P(®)-% AR ave
iaAe.pe.v\o\m-}.

) PCA snd B)= PCA)-PLR) = ((19)(F) = )-6)

DP(a o B)= PLA) xP(B) —P(AandB) =15 +3-.¢

|

3) Conshruct Venn Dingveiw

PCA)= .45 P(®)=-3 P(Aand B)=.?

| aa'%\

2) P(A oy B>: N5 4 03 ¢ .5=|,99] -

1) Venn Dingvaw

DA B)- P(RrondB) HP(B @)= PA and B

P( 8) , P(R)

z %:Fffé = T :: o 66T
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P( i Phome)- .15
F(Mac) = -4
P( £ ohane and MAC) = .25

1) Venn  Diagvam

2) P(mac| CPhone) = %«E

3) P iPhone | MAQ) = %5—:@

[ loaded Coin 1ts Yossed two Fiwmes .

P(TS: aj P('“')S 03
Male The tree Jiagram

PCLTEdR): a(MDD=e 1| %l
0

P(2 Foiid)= VL) = m?'i‘mm‘@
M5
RE

P( No tail) = (3).3) = « &
ol UL, P(Afals)-» L2

vse L1 5 2 5 Sind A=Id Seblek 4l
‘ v v v




B box has & Red & o Ble buils.
Drow 2 balls ,No Yep‘a(ememt.

Tiee D&xgmm q B

o N\
ety 4 0%
P(AoR)- € .5 30 KRR RB  BR BB
0 9790

MR IPGR) Rl ALL

2 [ Pared) B2
L TW% Use L1 &L H%X=.3

o |30%0° S=Blank
m=1
5 Semales ond 10 males
Selet 3 PEOPIE
P(2 Semales)= 156 74 - 7’3 = 5|2T

(2 Males)- 0.9, 8 _
FC aes) 15 14 13

P(W i;em@c 1-P(No Semales)

< 2
-1 - P(al 'n’lales),l S

p(wt} Nlale) =1 — P(No Male)
1o P(Pd\ Fernale)

) M '
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P(1+and AM)_ 55 +pCe :@
1553, !

POF and 1M) . 5% 0% :
)5C3

A deck oS (avds has  HO ('arfls with
10 Sae and 3 A Cavds.

Dww k‘cmjs No Ve‘)‘a(emm}

P(2 § s 2R)- 10 2L3C2 [<oof]

Ho ¢4
P{AN Sac Covds) = 40 Lé ==
Ko N{EX!
P(ot least 1 Sae Cavd)= "L~ PNO Sare Gard)
- ol 30y
10 Sace , 30 Suce o5
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wheel has 20 €<]~Ja( Secors

q Black I Red 2 Gueen,
(:.)‘.7;11, (\' +wi(&
P( ®B)=- 2?0 273: % P(Sawme. wlor)
Bl R 4 16

2.8 8 =t e e e

P(RR) = 2030 © 1) H0D 400 40 40D
2L P

RGG)- .2 - = ADSerwit Glor)=

1 — P(Same co«ov)-%*

Math Aef)T has 10 classes fo offer & 10
t'l\S‘fHJ(lravS.

‘(\1&\{ need 6 classs in W)orm‘ﬂj y

2 ciussis in The Ggﬂmaon/ and 1 af Qi
How wmany WwWay{s Caw this be o\ovle?‘

Movni A[] A5t noowy

) Evenn
locé ® [+\_3 ° j’c,i_ :‘817/0 ,
Evenin ASercoon  Mornm

01 T a3 6%3:
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A Soll—deck oS lefnj
ond (2 S:G(Q Cards.

A B

D 3 Cmvo‘ﬁ/
No veplaement , ovder does mit mathy.

C .
(23 "ug o N
DP( 2 Sae Cards)= :2C—3—- G
125 ol 132
2) P(exndly 2 Sace QA/Js) 12 290> 2=,
SZC o li0s
3) Plexacty 1 Sqe Lo.vo\) w _36
59,3 ]5
L*) P(No Soce Cwo(s): 12Co'410C3 39
50C3 %5

5) P(W Sace Cnvd): 41— P(No Sace Ca\vol)

Cavds has 52 Cavdls

~A_ %
25

&
35

#duee Cund P(* Sace Cavds)
S| Vs Use L1 (2 &
L 2 BC/“% 19 ind
* es L= 692
d | %5
S blenK

=1
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R 4-Sided loaded ie

1’2/ 3/ Lf.
P( lond ZL); A%

P( land 2)z 232
P Lano\ 3) -.93b
F(lead %) =Y

L1

e L1212 B Sind A=

i Numbeed
lond | PlQ)
1 | .8 *l
2 e 32 L9
)
3| 3%
N N

S.: B\(mK
m=1

P( Sm(&x); oM
?( D"l’ﬂLeY\) ot .5

P( Smokey and Dn‘nlcer): 25 i — 77 ]

( . 25
P Smoker | an[&.(): = _ @
P(D\'ﬂ\k@.\(\ Smoker>: 02,_'5 _|. 620
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Ha)=.3D DSind P(A and B)
P(B)- .3 P(RIB)- PR and B)
( P(B)
PCAIB)- M R D

21

3) Nenn  Diagramt Cvoss —Mo beply

ey T o(h ond ) 4-27]
L-WJ R |32
3) M(B\R)= =57 /@

Cliss @7 14
PR) =M P(B)-.5 P(0 and. B):- .3

D Venn  Diagvawm 2) PP\ ®)

’3) ?(Ror'B)




